
Online Math Camp (235)

TASession Note (Y0)
(Quiz6 Solution)



spts For anyopen





(pfs)=)) Assume K is compactin Y&X.

Suppose 3Un3 is an open cover of Kin X.

LetVo= YMUC, then 9VaY is an open cover ofKinY.

Since Y is compact, ISVa,,"",Van], a finitesubcover of Kin Y.

=>EVan, Van, ...., Wan] is a finitesubcover of KinX = K is compactinX.

1) Similar (See Notes).



ppts K is compact -> K is closed.

=>FNK is closed, & in a compact setK.

=>FRK is compact (by Proposition).



(f) Le+9Ua) be an open cover ofK

=Ge [WaY such that0 -> G, and

=sufficientlarge m such thatNI(0)?G.

LetGu be a setsuch thatGnEGUsb, IE Gu

Then SG, G1, G2, ..., Gm-3 isa finite subcover of K.
=>I is compact.
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